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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30
Time : Three hours

The figures in the margin indicate full marks
for the questions. :

Q. No. 1 carries 1 mark each

1 (a) 1x4 = 4
1 (b) 1x2 = 2

1 (¢ 1x2 =
Q. Nos. 2-6 carry 2 narks eacl 2x5 = 10
Q. Nos. 7-11 carry 3 marks eaclh 3x5 =.15
Q. Nos. 12-18 carry 5 yarks each 5%x7 = 35
Q. Nos. 19-22 carry 8 wuarks each 8x4 = 32
Total =100
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(a) F111 in. the blanks with approprlate Word/ Words 1x4=4 G

.( ) The 11ab111ty of every shareholder of a company is _
o }aﬁ mwﬁia ﬁmwe‘m— znw cmaﬂﬁm .

) Outstandmg Subscnptlon is shown on the " sideof -

‘theBalanceSheet R T
| ,;Wﬁﬁ«eﬁmm "“*‘C‘rﬁwm :
(iii) If a partner takes ¢ over a hablhty of the ﬁrm, that 'P artner’ s

- capital account is __ ‘ 1
| ‘ﬂﬁ‘ﬂww@mﬁwﬁm@mdﬁwﬂwmm c—c@
W%Wtﬁwfimi’a e

" —‘ - .. . ‘
" (iv) Current ratio is the relatlonsh1p between e assets -
‘ and current hablhtles \'— 1 T

- - () Choose the correct altematwe | o 1x2=.2.“
| eﬁ@mﬁaﬁﬁ@" | o

(z) Annual Report is 1ssued by a Company " 1ts i
1) Dlrectors»
R

@ Auditrs
ot A

29T ACOU~ 21




(©

29T ACOU

(i1)

(3) Shareholders
WQ‘T@W

(4) Managemént.
ARG |

Financial statements of a company include : 1

q5) TN R RIrERT Toe ey (2 iR ¢

(1) Only Cash Flow Statement
(P FomEe 2R elfsrma

(2) Only Profit and Loss Account
(ST TSI 251+t

(3) Only Balance Sheet
(S @@‘@ 21q

(4) All of the above.
7 (M RCH0! |

State whether the following statements are “True” or “False” :

O I (2T WE o7 qog ol 8

(@)

(ii)

The deceased partner is entitled to a share of profit for the
period upto his death. .

T A1 Telteess ol s Sl IS SIS e |

Profit or Loss .on revaluation of assets and liabilities is
distributed among old partners in sacrificing ratio. 1

TS O (i =fe eI #191 C STS A @I =7 i
TN A Spis SeFiew [osd = |
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2.  Give two distinctions between a not-for-profit organisation and a trading

organisation. ; : 2

e @GR AfeD i JPRE AR Tws 4 767 ek B |

3. A and B are two partners sharing profits and losses in the ratio of 3:2.
i 3 2
C is admitted as a new partner for Eth share which he acquires _Bth

1
from A and ﬁth from B. Calculate new profit sharing ratio. ; 2

,AWBWW:%WF@W3-2WWW~W¢W§%WI |
(OSTES c—$ww\% fésm T | CA AT o S+ | G e (98 ‘
ST SRR TSR s w\ﬁﬂmlﬂjarawwmﬁqﬁrwl

%
OR/ Mz |
3 |
Give two conditions under which a partnership firm is dissolved.

SIS AR ©Re 29 o[ 767 fofe B ‘

4. Mention any two features of a debenture, 2

Aelolas Rigprcn 757 (AR Sy 41 |

5. -~ What is the meaning of Cash Flow from Investing Activities ? 2

“ﬁﬁmﬁmmmmmwwm”awﬂﬁw , ‘

6.  What is meant by “super profit” in relation to valuation of goodwill ?

7. Mention three objectives of preparing financial statements 3

et eferme ergess fOmG Sw Srar 7 |
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8. Calculate liquid ratio from the following information : 3

oo al SRRl ©1e SigHre Wefd 11 ¢

Stock (W ) = SN (/000
Debrors (CFAIRIS) ' e 80,000/~
Bills Receivable (2o ) 3 10,000/

~ Advance Tax (@f@ﬂm +9) =3 4,000 i
Cash (F5W) = ¥ 30,000/-
Creditors (2ISiS) — =6 0i000 /2
Bills Payable (&t7d f<1) S i 40,000/ -
Machinery (J&(®) = T 50,000/-
Bank Overdraft (&$F S@RGG) = T 4,000/-

' = 70,0007/~

Debentures (3%{d) =
OR/ ¥

What is Comparative Statement ? Mention fwo objectives of preparing

Comparative Statement. 1+2=3

e RS WG 52 geeTe Refo eRgesd 10 Srrh SrEs <

9.  What are contingent liabilities ? Mention any two items. 1+2=3

SR el TE & IS R 7iaee A S 9
OR/ &1

Explain the average profit method of valuation of goodwill. 3
SN SETRES G I Ao [ P
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10. Calculate amount of medicines consumed to be shown in the Income and

Expenditure A/c for the year ended 31-12-2018 : 3

31-12-2018 SIRT: SRE={i T W= FoIA® (RT3 e AR
- Befy = : -

01-01-2018 31-12-2018

(Rs)) (Rs.)
Stock of Medicines CREER)) 3,000 500
Creditors for Medicines (€343 @ *HeTwi) 2,600 1,300

Amount paid for medicines during 2018 was Rs. 10,800/ -.

- 2018 S fowaw &3¢9 A 10,800 T IRz 51 t2fea |

OR/ 723

Mention any three distinctions between Receipts and Payments A/c and

Income and Expenditure Aje " 3

»wws%mmwmﬁmmmwﬁm%ﬁﬁwwmw!

11.  Mention any three limitations of Financial Statements. 3

R€ efemmg g foRG =Sl S < |

| OR/ 7IZJr
Writé three objectives of preparing Realisation Account. | 3
TR fEpief efge a9 fORb STy et |
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) )
12. North East Club had a Cash balance of Z 20,000/ - and Bank balance of

% 35,000/ - respectively on 01/04/2017. From the following details prepare
a Receipts and Payments Account for the year ended 31/3/2018 : o5
T4 28 I R 01/04/2017 OIS 717 &7 SAifest 20,000 51 Ol (€F© Sl
wifeet 35,000 5l | ©FF OUF #1{ 31/03 /2018 IR ST 7€ IRIGR A Sl

X0 f2o1e eee 41 -
Subscription Received (&% I[EN) ¢ |
2016-17 '
2017-18
2018-19
Dénation for Building (<K JI3 i 7ie)
Entrance Fee (&li¥ &l )
Life Membership Fee (Wﬁﬁﬂ ] ApeT)
Printing and Stétionery (CQIBSIES src-m%ﬁ)

Lighting Expenses (Rgjo< 25)

‘Rent and Taxes Paid (SIS 9F 9 «A_Rei)

Telephone Charges ( CBieTCrIa <<b)
Postage (TIF)

Salaries (VS9%))

Insurance (=)

Interest Received (&I® 79)

- Locker Rent Received (FTRISS Siul ﬁ“@

Purchase of Furniture (SIoI &)
Cash in hand as on 31-03-2018
(31-03-2018 iR i &) )

29T ACOU (7]

(Rs.) (Rs.)
30,000 ’
225,000

10,000 2,65,000

60,000
23,000
20,000
38,750
26,250
17,000
2,600
2,000
88,000
15,000
18,000
42,000
2,00,000
23,400
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OR/ &AL

Explain in brief the treatment of the following items in preparation of

Income and Expenditure Account: 5
SR il A RIS SHTS WEl AVETRS f25is Ao <Rl S IR 1 8

(i) Subscription ()

(i) Life Membership Fee (TGRS e

(iii) -General Donation (TS i)

(iv) Specific Donation (Rew VIW)_

@) Legacy (1)

13. What is Cash‘ Flow Statement ? Explain its three limitations. 2+3=5
T 2E AferEe WiE e @2 efor@weR foMG! STiikmel 1R = |
' OR/ 7%

From the following information calculate the cash from operating
~activities :

oo Al SAART “_ IS FIEE #F F5ivees 2z AR S 54t -

2016 (Rs.) |2017 (Rs.)
Profit and Loss A/c (F® oI 2519) 3,00,000 2,50,000
Bills Receivable (2l &eT) 20,000 18,000
Provision for Depreciation (SRS S H(Ew) 60,000 80,000
Outstanding Wages (Fr=era= TGE) 18,000 15,000
Prepaid Insurance (S @we i) 6,000 9,000
Goodwill (3I) 40,000 32,000
Provision for Doubtful Debts 10,000 14,000

(TETES e[ AR SR T8

Debtors ((#7Ix) | 1,20,000 80,000
Cash and Bank Balance (%9 @Il (355 TF6) | 30,000 25,000
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D

14. A business has a current ratio of 3:1 and a quick ratio of 12:1. If the

Working Capital is 2 1,80,000, calculate current assets and stock. 414D

D] STPTER DTS AT 311 S SR SATS 121 | 3 REw) 3o7e 1,80,000
Tl 2, (ST BT AfG W% Tere At A el |

OR/ 721
What are profitability ratios ? What is the significance of gross profit and
operating profit ratio ? 3+2=5
AeCHTel SPSER & [ 2 TS &S Ui IR aireq Srries o9 & 2

15. A, B and C were parfners sharing profits in the ratio of 3:2:1 respectively.

Balance Sheet of the firm as at 31st March, 2017 stood as follows : 5

A, B9 C fofiee Samie Gifneres 3:2:1 Wﬂ?n—@\o S o PR | 31 B,
2017 Ot (SEENRT AfSDiT ©Fe 2@ OeTe WAl v SR -
Balance Sheet (%5€ #@)

Liabilities (@) €3) Assets (F7(8) ®)
Sundry Creditors 16,000 Building (&) 23,000
Jfry slieamig

Debtors (M%) 7,000
Capital :
(1) 2 Stock (&S /¢77) 12,000
01000 .
B . 7.500/- Patent (¢ ) 8,000
G 2500/ 40,0001 pank (@) 6,000
56,000 56,000
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"B" retired on the above date on the following terms:

oo fHl 56 SEpIR, BARE SN B-G1 SR 22e SHNCE :

i)  Building to be appreciated by  8,800.

S & 8,800 T @ AR

i)  Provision for dc;ubtful debts be made @ 5% oh debtors.

VIS 82l 5% A VRS AR M SREe 7T 4F FRI St |
ii1) Goodwill of the firm be Valued at < 9,000.
SV R 9,000 THO FURA F1 = |

Pass necessary Journal Entries.

e S 2kfe WA

OR/ FZ3t

What is share fdrfeiture ? State the procedure of forfeiture of shares.
| 2+3=5
SIHGT ACETHAISTIE A [ 2 SRHPET ARSI A S |

16. What is Partnership Deed ? Mention its four principal clauses.
: 1+4=5
SIS Wl Sy [ 2 SRAWIS] Wiee™ S0 25 Wl S 9 |
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OR/ 733t
Following is the Balance Sheet of P, Q and R as on March 31, 2018.

5
P, Q S R-F 31 b, 2018 SRS Tge 7@ wero Wil 25 —
Balance Sheet (3% “@)

Liabilities (Ca=!) ®) Assets (7€) ®)
Sundry Creditors 16,000 Bills Receivable (2i#l] &) : 16,000
[ stremm , . Furniture (SI63R) 22 600
General Reserve 16,000 '
Capital Accounts : Sundry Debtors
PGELD| GIEERERILED) 22,000

RS 01000
g h at B 2
O - 20000 _ " Cash at Bank ((®© &a)l) 18,000
ASRESEED 01000 70,000 Cash in Hand (5% &) 3,000
1,02,000 ’ 1,02,000

Q died on ]uﬁe 30, 2018. Under the agreement the executors of the

deceased partner were entitled to:

30 T, 2018 SRS Q-awéﬂlﬁrq—w\w AfOME et A7 -
a)  Amount standing to the credit of Partner's Capital A/c.

SRA I eI 2517 (POoe A 2= & |
b)  Interest on Capital @ 5% p.a.

R 5% AT FHAT @7F9 FO |

o) ‘Share of goodwill on the basis of twice the average of the past three
years' profit.

Rt fofaess v mies nod fofge Famm =k« |
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d)  Share of profit from the closing of the last financial year to the date
of death on the basis of last year's,profit (2017-18).

[ERISEESH (2017-18)mﬁﬁﬁsnﬂaﬁtaﬁﬁ—wwww i
ISR ”%QJZEICQS EICRRS Rl

e)  Profits for the last three years were:

Rt fofneed =ilS SIfeeT

Year / 7 Profit / =TS
) (%)

2015 - 16  12,000/-

2016 - 17 16,000/ -

2017 - 18 14,000/~

Prepare Q's capital account on the date of his death.

Q= Jo SRS (961 T pisl age |

17.  Distinguish between Realisation Account and Revaluation Account. 5

LTI f25le] e ZeniEe 2oleR Aere 26 #ALFEE o |
OR/ 723!

A and B are partners sharing profits equally. salance Sheet on September

2018 was as follows : : 5

A SIS B 7 Ssifes e 04 N SRAME ifee | (UEF, 2018 wiRds
(OCEITT Tgw sfges weTo el 4= Siifee |
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Balance Sheet (336 @)

Liabilities (¢#) ®) Assets (F7™if€) ®)
Creditors (21\¢<I%I¥) 11,200| Sundry Assets 59,000
Bills Payable (277 &) o0 it DR
Reserve Fund (Fi{%® fer) 6,000
Capitals :

A : 20,000
B : 20,000 40,000
59,000 59,000

The firm is dissolved on the above date. Assets are realised at 2 49,600.
Creditors allowed a discount of 2% and Dissolution Expenses came to ¥ 544.

THEE e oG S 9 | [RY TeiferEs R S/ 49,600 5=
SV CoAlT SieT | ANSHMN AR 2% ({22 Meel N SRS AW (1 A6

sifSele 544 T T |

Give Journal Entries to close the books of the firm.

ASHICEIR RHIPRRIERE I8 FRRS @ Giwl Rkie 3|

18. Discuss the process for allottment of shares of a company in case of

oversubscription.

5

ST IO CFa® @A Sl TG AACE! D 5 |

OR / M1

Prepare a Comparative Income Statement from the following particulars :

OolY O S{ G wEiES o eferne A I :

29T ACOU
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Particulars (Rg99) 2017 (?) 2018 (%)
Sales 4,00,000 5,00,000
Cost of Goods Sold _ 2,00,000 3,00,000
Administrative Expenses 40,000 1,00,000
DT 4S5 '
'Other Income 3 20,000 : 30,000
Sy B _
Income Tax : 60,000 70,000
ARG
19. Following is the Trial Balance of Rana and Raju as on 31st March, 2018 :
: 8
31 b, 2018 SIfRCY IANSNF G TF€ FeH g wote Wl 749 iR -
Dr. Trial Balance (%€ & #[@) R, Cr.
Particulars (Rg29) €3] . Particulars (Rg3e) ®)
Machinery (Jg#iifs) - 10,000 | Capital :
Furniture (SI533) DOIS60 ||
Rent (¥9 ©=) 19,740 Rana = 65,000
s BI0|
Salaries (M<7%)) 9,000 j '
Debtors (GHIAR) 40,500 51%“ = 40,000 }1,05,000
Cash in Hand (59w &) 16,300 Creditors (#I\e=7) 18,400
Cash at Bank (G333 Sll) 45,000 :
C . . . .
Dby e “ommission (vE¥) 300
Rana () = 4,000 Bank Loan (€59 4€) 5,000
Raju (Ag) = 3,000/, 7,000 | Trading Account
Closing Stock (s sgpe)| 12,500 | (@F-Res foia) - .
Commission (7&) 5000 | Gross Profit (3 &7S) 57,200
1,85,900 1,85,900
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- Prepare the Profit & Loss Account and Profit & Loss Appropriation
Account for the year ended 31st March, 2018 and a Balance Sheet of the
Firm as on that date after taking into consideration the following

additional information :

wore fral SfeRe Rz Rew 3 o3 6, 205 OIRE I 7191 TR A
O~ 25191, FS-CEs Soiiem 2ol oI B& wifes afevHeN
T7e 9 =S 3 : ' |

1) Depreciéte Machinery @ 10% p.a. and Furniture @ 20% p.a.

elifed eriRe TER 10% I SIGNRA 67IF9 2R 20% W 4

ii)  Partners will get interest on Capital @ 5% p.a.

ST T2 5% @ TETHT @299 JO AR |

iii) Raju is entitled to a salary of X 1,800 p.a.

AR T2 1,800 TR TR A

iv) The Profit sharing ratio between Rana and Raju was 3:2.

T S G WSS FS o9 TS 3:2 S |
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2088 VIS lLimited 1ssued 1,000 equity shares of Rs. 100 each payable as
follows : 8

On Application —  Rs. 25 per share ]

On Allotment —  Rs. 25 per share
On First Call —  Rs. 20 per share
On Final Call —  Rs. 30 per share

|
All the shares were duly subscribed for, called-up and paid-up, except |
Mr. A holding 400 shares did not pay the final call money.

Show the entries in the Cash Book and Journal of the company for the
above transactions.

MS. Ltd - ¢ &f$2 100/- leooomwm—ﬁ%wmin |
2l =l sty i e : |

SR For —25/‘6@
SIGR @e — 25/- O _
AN woRT e — 20/ B ' | |
POI% SoRe s — 30/- O - |

o A A SIEE AR P | IR R TR g i |
AS A7 pois o 400 3 ST 471 Aifees w1 7w 9L oA e |

>N 75 Fomdel g8 FN S TR SiEv kiR @) |
OR/ 72t i

Write short notes on :  34349-8
SIABIH el -
a) Redemption of Debentures

9oy SARCHIA

b) Loss on Isssue of Debentures

Yojviay oo (RN CETIFOIT
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m RS

¢)  Minimum Subscription.

Ao ST |

21. S. K. Ltd. issued 1,000, 12% Debentures of Rs. 100 each! Give journal
entries for Redemption of the debentures in the books of the company
under the following conditions : 23538
S. K. Ltd.-9 100/- Bl Y0 1,000 2 12% F7q [l Fiieet| oo fra
SRR A A RIS 9i2@s, ARG TFRo =T 7<) Sl =i fa |

i)  Issued at Par and Redeemable at par after 5 years.

TS [ierred O 5 T59 (RS TS AR |
ii)  Issued at Par and Redeemable at a premium of 5% after 5 years.

SRS RiEResd SIS 5 25K Pz 5% SfXENe AR |

iii) Issued at a Premium of 5% Redeemable at Par after 5 years.

50, SRS RERS Wi 5 %99 2o AL AR |
OR / 7231

Write short notes on: 2+2+4240=8

EE@WSTT%RH

i) Authorised Share Capital

NGIPO S T

ii) Call-in-Arrear
5] weal

iii) Pro-Rata Allotment
SIAIRST SIR*7@ SO

iv)  Preference Share.
SN fFRTS ST |
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3

22. Vimal and Nirmal are partners in a firm sharing profits and losses in the |
ratio 3:2. Their Balance Sheet as on 31st December, 2018 was as under :

8

et Sl (T 3:2 SHPIOS A% SIS EIF6H 04 FI bO® SIRAW wiifes | |

31 =R, 2018 SRt (SEEIRFT TF€ 19 ore Al Wi iRt - |

‘Balance Sheet (T%e #@)

Liabilities (%) €3 Assets (1) ®)
Sundry Creditors 20,000 Cash (55 &) 14,000 1!
R sireqmix : : |
Capital Accounts : Debtors () 18,000

Vimal ¢ Rs60,000 Machinery (Ig2iif®) 50,000

Nirmal :Rs. 32,000 92,000

Profit and Loss A/c 20,000 Stock ( i\? A0) 40,000 |
SS-(AIFOI |
7 feot Goodwill (3=I1) 10,000
1,32,000 ' ' ' 1,32,000
‘ ==
}
|

On that date Kailash was admitted as a new partner. He paid 2 40,000 as
his capital and % 20,000 for his share of goodwill. The new profit sharing
ratio was agreed to be 2:1:1.

Pass Journal entries in the books of the firm and show the Balance Sheet
of the new firm.

ToEe ©ifRta Kailash <4 @S 79 SAmE Boieet fgfe i | o8 Fom
STEHEIS AW 40,000 53 S AR (96T ST A 20,000 5 WG | S 1659
Tor See 2:1:1 29 I Pais @Rl 26 | afowing 93e S 2R T o
N efeviE Tge g e |
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"OR/ m‘?ar

- What is goodwﬂl ? Mention four-factors affectmg the goodwﬂl of a firm.
‘Mentlon three COI'ldlthl‘lS When Valuatlon of goodwﬂl becomes necessary

1+4+3"8

"Wmﬁs?ai%ma»m—a@ﬁcﬂmwmﬁmwwaww
-WWWW%WWWI - |
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